[image: C:\Users\aman_adhate\AppData\Local\Microsoft\Windows\INetCache\Content.Word\Fig.5a1000.tif]
[image: C:\Users\aman_adhate\AppData\Local\Microsoft\Windows\INetCache\Content.Word\Fig.5b1000.tif]
[image: C:\Users\aman_adhate\AppData\Local\Microsoft\Windows\INetCache\Content.Word\Fig.5c1000.tif]
[bookmark: _GoBack][image: C:\Users\aman_adhate\AppData\Local\Microsoft\Windows\INetCache\Content.Word\Fig.5d1000.tif]
image1.tiff
®30°C
14 @ m40°C
12 A50°C
T 1
Z 08 -
20 R2=0.9921
S 06 -
04 R2=0.991
02 R2=0.9892
0 + .
0 20 40

Time. min

60





image2.tiff
0.8

0.7 (b) R2=0.9977

2 0.6 2=0,9988

_E 0.5

- R2=1

o)

= 0.4

£ 03

. €30°C
0.2

g W40°C
0.1 A50°C
0 ' T 1

0 20 40 60 80

Time, min





image3.tiff
= w -
n

o

e ’
© o=

(RS

n w

© R2=0.9892
R2=0.9902
R2=0.9921
30°C
m40°C
A50°C
20 40 60

Time, min




image4.tiff
2 @ R2=0.9725
R2=0.9837
—_15 ¢
B 2=0.8981
= 1 .
& - 3
€30°C
03 m40°C
A50°C
0 . . , , . ; ,
0 100 20 30 40 50 60 70

Time, min





